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https://www.biwako.shiga-u.ac.jp/sensei/mnaka/ut/samplingerrtab.html

confidence level 95%
[0) [0) 0, 0, 0, 0,
population proportion 919/0% 955€}J 584‘; ggcﬁ ;84‘; ggfﬁ 50%
sample size: n= 100, +1.95 +4.27 +5.88 +7.84 +8.98 +9.60 +9.80
200| +1.38 +3.02 +4.16 +5.54 +6.35 +6.79 +6.93
300| +1.13 +2.47 +3.39 +4.53 +5.19 +5.54 +5.66
400/ +0.98 +2.14 +2.94 +3.92 +4.49 +4.80 +4.90
500, +0.87 +1.91 +2.63 +3.51 +4.02 +4.29 +4.38
600, +0.80 +1.74 +2.40 +3.20 +3.67 +3.92 +4.00
700, =0.74 +1.61 +2.22 +2.96 +3.39 +3.63 +3.70
800 =+0.69 +1.51 +2.08 +2.77 +3.18 +3.39 +3.46
900| =+0.65 +1.42 +1.96 +2.61 +2.99 +3.20 +3.27
1,000, =+0.62 +1.35 +1.86 +2.48 +2.84 +3.04 +3.10
2,000 *0.44 +0.96 +1.31 +1.75 +2.01 +2.15 +2.19
3,000 =+0.36 +0.78 +1.07 +1.43 +1.64 +1.75 +1.79
4,000/ +0.31 +0.68 +0.93 +1.24 +1.42 +1.52 +1.55
5,000f +0.28 +0.60 +0.83 £1.11 +1.27 +1.36 +1.39
approximation i% ij—i i:—?l :—18’ i% i% i?—i




